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SECTION - A

e
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1) General Awareness

Which of the following works of
Kalidasa is not a play ?

(A) Abhijnana Shakuntalam
(B) Malavikagnimitra

(C) Meghadoot

(D) Vikramorvashiya

Galvanised iron sheets have a
coating of

(A)  Aluminium
(B} Zinc
{Cy Tin
(D) Lead

Who delivered his.' firsl sermon at
Samath 7

(A} Buddha

(B) Mahavesra

(C) Shankaracharya
(D) Mone of these

The Susz canal joins

(A} The Mediterranean Sea and the
Parsian Gulf

(B} The Black Sea and the Casplan
Sea

(C) The Mediterranean Sea and the
Red Sea

(D) The Casplan Sea and the Red Sea

&4

5. ‘Which one of the following vitamins

is associated with clotting of blood 7
(A) A B G
(C) B o K

_ The western musical instrumant violin

was introduced in India by
(A) Swami Haridas
{B) Bhaskar Bua

(C) Shyama Shastry
(D) Baluswamy Dikshitar

. The largest cell in the human body is

{Aa) MNerve cell
(8) Muscle cell
{C) Liver cell

(D) Kldney cell

In the court of Akbar, Tansan was a
famous

(A) Painter
(B) Post

(G} Musician
(D) Architect

. Saka Era was founded by

(&Y Ashoka
(B} Kanishka
{C) Vikramaditya
(D) Harsha
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10.  Which ene of the following is a Great

it

12

18.

14,

Circle 7

(4) The Arctic Circle

(B) The Tropic of Cancer
(C) The Equator

(D) The Tropic of Capricom

Which one of the following planets
orbits around the Sun in a clockwizse

direction from East to West 7
(A) Earth (B) Mercury
{C) Jupiter D) Venus

Among the following, who is tha
Ex-Officle Chairman of the Rajya
Sabha 7

(A) Sushma Swara]

(B) Pranab Mukharjes

(G} Vica President Hamid Ansari
(D) Sachin Tendulkar

retained Men's Hockey
World Cup 2014 titls by outplaying the
Netheriands in the final in The Hague
on 15-6-2014,
(A) Argentina (B)

(C) India

Australia
(D) England

In 1854, the highest chvilian award in
India *Bharat Ratna" was presented
for the first tima to P = .
Sir C.V. Raman and Dr. S
Radhakrishnan,

(A) Pandit Jawaharlal Nehry
(B} Sir M. Vishweshwarayya
{C) Dr. Rajendra Prasad

(B) Chakravarthi Rajgopalachari
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15.

18,

-

18.

1B,

20,

D000 0O 0 O

When did Constitution of free India
comea into fores 7

(A) 15-8-1947
(B) 26-11-194g
(C) 26-1-1850
{D)  None of these

Expand W.T.O,

{A)  Wemen's Tourist Organisation
(B) World Trade Organisation

(€} World Trade Offica

(D) Working Tourism Organisation

Akhilesh Yadav is the Chief Minister of
(A} Uttar Pradesh

(B) Uttaranchal

{C} Bihar

(D) Noneofthesa

Where was the 15" adition of

International Indian Film Academy
Awards 2014 held 7

(&) Florida (B) Dubai

(C) Singapore (D} London
Where is the seat of the International
Court of Justice ?

(A New York

(B} The Hague

{C) Washinglon D.C.

(2} San Francisco

Which is also called "Land of Rising
sun® 7

{A) Venica (B}
(C) Japan (D)

Egypt
Australia
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ii) General intelligence and Reasoning Ability
o 21. Sujatha walks a distance of 4 kmg 26. Qs taller than K but shorter than U
:{ towards South, then furning to her left where as U is shorterthan T and B is
3 walks for 3 kms. She again tums left taller than S. Who is the shortest 7
3 and walks for 4 kms. At this point she A Q 8 T
tums to her left and walks for 4 ks, _ (
How many kms is she from the starting {C) S (D) R
point 7 .
(A} 5kms (B) 3kms 27.  Belect the related word from the given
altematives.
D) 1k
il Byriton Lion : Lioness :: Emperar-7
22. Select the related number from tha {A) Empire
given alternativas.
LxM: 12518+ F xR : 7 €) Emevess
(A) Bx17 (B) 6x18 (C) Emperess
[C) 14x15 (D) 718 (D) Empower
23. Select the refated letter from the given | Directions (Qs. 281032) : Inthese questions
altarnatives, one word or figure s differsnt from the others.
ABC : XYZ - BCD : 7 Find the odd one out,
tg]' I"""_'rxu‘r {DE’J :_:'_:m 28, (A} Hydrogen
() 8 (L) TUV B) Mercury
4. FiveboysP,Q, R, S and T are sitting (€] Oxygen
in a row; S is on the right ::ffT, Qison (D) Chiorina
the leftof T but is on the rightof P. 8
is-on the left of R. Who is sitting on
the extrema right 7 g e
&) T B8] S (B) Venus
© R O) Q (C) Moaon
_ {2)  Jupiter
25. Aand B are brothers. B s the son of
C and C is the wite of D. How is D 30. (A) Medal
related to A 7 (B) Gold
(A} Son (B) Uncla (©) Silver
(C})  Mother (D) Father D) Zine
Ax &
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(4) 5T, .

(B) 3f%. i,

(€} 2= =,

(D) 1.+,
Eﬁﬁﬁmﬁﬁﬁrmﬁﬁﬁﬂgﬁm
LxM: 125132 F xR 7

(A} S5x17 {B) Bx18

(C) 14x15 D) 7x19
ﬁ&ﬁﬁwﬁﬁ%m&ammgﬁql
ABC : X¥YZ = BCD:?

(A) WXY (B) VWX

(C) STU (D) Tuv

P.Q.R S3i Tyl msd = san
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QTe Hﬁ&m%s‘#ﬁmu#m%aﬂﬁs
UTETE oy RIZsSTaEare|
HAH AR A ?

(A} Q
(C) s

B) T

O) R
ﬁ&ﬂ&%ﬁﬁﬁﬁmﬁﬁﬁﬁgﬁm
Lion : Lioness : Emperor - 7

(A) Empire

(B) Empress

{C) Emperess

(D) Empower
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(B) i
(C) =4
(D) e
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3. (A) 112 ﬂlrmﬂunafns-ﬁsandwﬂnﬂam::fﬂmm
(B) sg quesﬂnnsana:nguas are 1o be found.
- 1), 42 36, Ignorance - 7 .. Darkness:f.ighi
D) &7 (A) Creature
32, (A) Cauvery (B) Kindness
(B) Freedom (C}) Knowledge
(€ Krishna (B)  Hasitation
®)  Namada 87 Explosion : Debris : 7. Aspes
3 L means ‘4’ = mBans ‘. oo (A}  Fire
l‘_.l d | BN | F [ ;
252542 1 g o 7008 ] then ®) Friends
(€) 10 o) 17 B} Area

38, 185732 984 352?513543559

In the above given number S@ries,
how Many instances arg thera in

SPArfows except 5ix, all pigaans which an aven number is followad by
=Xcept sl and all parrg Bxcept six Wo 0dd numbers 7

many birds had ha jn all 7 _
(&) 18 (A) il {E) 1
® g (C) 3 0) 2
{C) 27 If wa sUbstitute numbers 1 to 12
D) 38 Mdicating hours on the dial of a clogk

35. Aman has & cariain number of sma|

boxes to Packinto parcals, It he packs reprasent 7
E.#.Emﬁbﬂcmsnapama-l,h&isieﬁ A K B) G

with one Over, if he packs 7 boxes in

A Parcel, nona is left ayar What is the [C) E D) L

number of boxes he has to pack intg

parcels 7 MLABCKREgP

(A) 108 From the above lattars which of the
(B) 301 following words Zannot be formeg 2
(C) 4op (A} PALM (B) CADRE
(D) 309 (C) MALE (D) SPARE
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(A) B B) 18 . 1B5729843627518943659
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(A) 108 (B) 301 (A) PALM (B) CADRE
(C) 400 (D) 309 (C) MALE (D) SPARE
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41.

42.

28,

(A OO 0

lii) Arithmetical and Numerical Ability

The ratio between the aroas of two
circles is 8 : 7. What will be the ratio
of their radii 7

(A) g:u.l'tf
(€) 3:7

(B) E:ﬁ
(D) 81:49

‘0’ Is the In-centre of A ABC.
| BAC= 80", then |E-D{: is equal to

(A} 1a0° (B) sg°
{C) 180° (D) 40°

The length of diagonal of a squara is
5./2 cm. Then the perimater of this
EQuare is

(A) 25sqg.cm
(C) 20cm

(B) 20sq. em
(D) 25 cm

If the cost price of 8 articles is egual
to the selling price of 5 articlas,
percentage of gain is
{A) 25%
(C) 10%%

(B) 20%
(D) 15%

The sum of two numbers is 25 and
their product is 150. Their H.C.F. i

(A) 15 (B) 1o
(C) 5 o 1

Whean ‘n’ is divided by 5, the
remainder is 3. What s the remainder
when n is divided by & 7
[A) 4 (B) 3
€ 2 o 1

“12-

47.

48,

48,

20.

51.

52,

12 workers can complets a pleca of
wark in 15 days by working 4 hours
a day, How many days 15 workers
take to complste the same plece of

Work by working 6 hours a day 7
(A) 10 days (B) 8 days
(C) 12 days (D) &days

When a noteback s sold for ¥ 10,
thers is a profit of 7 2. How much is
the profit when the same noteboak is
sold for ¥ 20 7
(A} T4

(€ T1o

(B) T6
(D) %12

Veena travels 10 km to the South and
then 30 km to the East and then
20 km to the North. Now how far is

she from her starting point 7
(A) 30km (B} 40 km
{€) 50km (D) B8O km

lF2a=3band4b=3c.a:h:c=7
(A} 9:8:6 B} 9:6:8
(C) B:8:8 (D) 6:5:9

The median of 7. 2.9, 11,10, 5and
12is

(AY 11
(C) 10

®) 9
D) &

The difference between the Simple
Interest and Compound Interest for
6,000 for 2 years at 10% is

(A) T80 {B) T70
(D) T72

(C) 750
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44, 6 =% 1 T A 5 THEE ®
s : : (A) aofE (B) 40 = dt.
R e A ¢ (cy Sofw, (D) B0 R
(A) 25% (B} 20%
(C) 10% D) 15% 50. W2a=3b3Mab=3eMa:bic=2
(A} 9:8:8 (B) 9:6:8
45, ST HEAH T HL 26 B 9 I IR (C) 6:9:8 (D) 6:8:8
V508 | NS 51. 7,29 11,10, 53 12 Frmicas 2
(A} 15 By 10 A 11 B o
€} 5 (D) 1 (€) 10 (D) 8
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53I

o6,

A=

A man rides ai the rates of
20 kilometers an hour, But stops
10 minutes 1o changes horses at thg
end of every 25t kilometer. How fong
will he take 1o 20 a distance of
185 kilomaters 7

(A) 8 hours 45 minutas

(B) 8 hours 15 minutes

(C) 8hours 15 minutes

(L) 8 hours 45 minutes

A Man can row 7 kmithr in still water
I the river i running at 3 keyhr, it takes
& hours mora in upsirezm than 1o go
downsiream for 1h2 2amsz distancs,
How far iz the place 7

(A} 45 km (8) S50km
(C} 55 km (D) 40 km
The market value of sach share of fscs

value ¥ 25 is T 28, Alay invesis
T 5,800 in thess shares, Ifthe oo
declares a dividend of 9%, the dividend
that Ajay will get In that year s

(A) T 450 (B) ¥4p0
(C) T&op (D) 550

What langth ofcanvas 2 min width i
fequired to maks 5 conical tent 12 m
in diameter and 53 m in slant helght 2

(A) ‘snom (B) 554m
(C) 5%4m (O) B1am

60

(B} 4z°
(C) mp” Oy s¢°

Thres ldentical coins are 1osssd
together. What is thg probability of
cblaining all tails 2

Ll m =y

—

(D)

oo |

From the digits g 8,8, 5 4 1 how
many 3 digit even numbers can be
formed, witheut repatition of digits 7

A} 120 (B} oo
(B) 2o

(C) B0
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(A) 7450 (B) 7400
(C) T500 (D) %550
ﬁizﬂ.mmﬁnasﬁ.ﬁnﬁﬁmm
mﬁﬁmﬁﬁzﬁ.mﬁaﬁﬁﬂw
B S A I

(A} BOOHL (B] 5647
(C) 59441 (D) B4
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A ABC F1 S ufiF=g 81 3%
|BSC = 102° %, [BAC =T

(A 78 (B) 42°
(C) 80’ (0) s1
T e 1 ST 125648 |
< TE] & A S
(&) 10:8
(B) 5:4
() 15:8
(0) 98 A FIE AL
i o S e U Y 3T A €
FagETE B e e
AL
(A 8
G A
(B) g
3
© 3
1
() A
E,E.E,E,d.IﬁaﬁiﬁﬁﬁFﬁiﬁq
STeraTE wE T, JE A w5 W
 FTH B, ST = HAA € 7
(A) 120 (B) 100
(C) B0 (o) 20

-




JDD-23/PGT-GEO/X-14

61.

B3.

T s T v 3

(A) T
(B)
(C) T

(D) T

e SR g g
(A) 2
B) &t
(C) 2
(D) it

iv) Test of Language : Hindi
a7 Wity -

=16

B4. T i forgids e
(4) smm
(B) w3
(C) 2=
o) =

85 TR VS W wEsEs e ey 2

(A) =18
B w22
(C) =z

(D) =z

86. Hif = auEnis T2

(&) =R
(B)  wifemr
(C) &

(Ry ==y




-
=l i

67. == wfife vy
()
(B) e
(C) =raErsy
(D) Wi

68, “HER’ ey v
(A)
(B) @
(C) z=m

(D) wzwam

o B R, |
(A

(B) =
(C) o

(D) =m

— W

(A} I
(By /s
C) wE=w

(D) was

load From - www.allgovtjobsindia.in

JDD-23/PGT-GEO/X-14

ORI xg
(&) Wz
(B) i ama
(C) F==riom
(D) sr=dm

72, "'*E'Tﬂmasrmmﬁg
() =0
(B) @M
(C) @
(D) w7 e

% e mew
@) % -
B) 4
(C) Frn
(D) SHarad

T4, FEA A e

28 e i
(&) e £
(B} FyamEw lf
(C) Fomiw T
(D) = ]




JDD-23/PGT-GEO/X-14

25 ‘= o feaE TR E

-

75 mEmEammhiE__ FEOE|

(B) TG
cy B

(D) HETET

- apmfeftE SEGEl
(A) =T
(& =S|
(G} wAw

(D) TR

. 78 10 80 - 71 o Frrm A v
e I A |
ety & | = AR 19 5 T F
sy W R | et e
sl 78 & gaen anlaenn HEH EEfICEs
iﬁ.tm.%aém.Laaymﬁfmi1925ﬁaa’um
[ %

0 O

ﬁﬁﬁﬁ%@wwmﬁaiﬁmﬂmﬁ;
TREEHEE]

e B e o S 15 e e 1959 H
off | AR Tt . T TS A S
i e

vg. qEEEIAAEE __ FEdl
(A) e
By femia
(c) s
Dy =R

78, qEEEEEAEE | o T Al |
A T
(B} *—4

(€) =
(D) =

gp. WA 4 gEEh w1 HEA E
gl

(A 15 HEET 1968
(B} 15 The=T 1958

(G} 15 3F#a 1958

(D) 15 3P 1968

b



R ————

v) Test of Language - English

JDD-23/PGT-GEO/X-14

oy ey ¢ ST

pirections (Qs. 81 1o 83) : In thesse
guastions, the | and the last parts of the
sentence are numbered 1 and &, The rest of
the sertence is split into four parts and
named P, Q, R and 5. These tour parts ars
not given in their proper order. Read the pans
and find out which of the four combinations
jg correct and select your answer
accordingly.

g1, 1.
P asamathod for
(). has bsen declared in India

Planning

B abody of common aims
& achieving and evolving

6. anda fechnique tobe pursued on
a national scaie

(&) QPSR
(B) RSQF
(C) QRSP
D) SQaRP

. Spo the bird
. while the beggars
making merry In their houses

1

=

Q

B flew over the great city
5, and saw the rich

. were sitting at the gates
(x) PREQ

(B) RSQP

(C) QRSP

{0y SQRF

83, 1. Mywork
P will be finished it | succeed

Q. in carrying the conviction o the
human family

R. that evary man or woman,
howevar weak in body

& s the guardian of his of her
self-respact

6. and liberty
(&) RQSF
(8) SPRQ
(C} PQRS
(D} SRGP

Directions (Os. 84 and 85) : Choose the
word opposite in meaning 16 the given word.

g4, Attachment
(A) raversion
(B) detachment
(C) aftraction
(D) rejection

85. Unitorm
(A) unfamiliar
{B) ameasura
(C) wvariable
(D) common

18-
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Directions (Qs. 86 and B7) : Choosze the
word which best expresses the meaning of
the given word.

86. Incredible
(A} unbellevabla
{B) impossible
(C) secular

(D} broad-minded

87. Emerge

{A) recede

(B} emulate

(C) separate

(D) appear
Directions (Qs. 88 anid 839) : Four altematives
ara given for the Idiom/Phrase, Choese the

alternative which best Bxpresses the
meaning of the Idlom/Phrasa.

B8. To pay heed

(A} tounderestimata

(B) torsject
(C) tolisten
(D} looppose

B3, Hue and ery
{A) anuproar
(B) plenty of tears
(€)  demoralize
(B} hampering

O L R B O

Directlons (Qs. 80 to 83) : You have a
passage in which some of the words have
been left out. First read the passage over and
try lo understand what is it about. Than fill in
the blanks with the help of the alternatives
ghven :

The Indian ecean earthguake of 2004, also
(50} 85 the Sumatra. Andaman sarthquake,
was an undersea eanhquake that 81) on the
morning of 26 December 2004. I had a (s2)
of 8.15 on the Richter scale, which makes it
ons of the most (83) earthquakes sver
recorded. T

0. (A) hated
(B) knewn
{C)] praised
(D) brought

21, (A) oocurrsd
(BY held
(C] tame

(D) found

g2. (A) height
(B} welight
{C) length
(B} magnitude

93, (A) seocrst
(B) beautiful
(C) powerful
(I pleasant
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Directions (QOs. 94 to 86) : In thasa
questions, a part of the sentence is
underlined. Below are givan alternatives to
the undarlined part at (A}, (B) and (C) which
rmay improve the sentence. Choose the
correct alternative, In case no improvement
1s needed, your answer is (D).

84. The man taken to the hospital by an
ambulanca,

(A} took

(B) is taking

(C) was taken

(D} noimprovement

85. |t is said that Oscar Wilde was most
sincere afistically when he depicts
Insincera charactars,

(A) ware

B) Is

(&) have been

(D) noimprovement

86. She abandoned the idea of marrying
hirm

&) forsake

(B) paid

(C) displeased

(D} nomprovement

Directions (Qs. 97 10 99) : Read the passage
carafully and on this basis choose the best
answar o aach of these quastions ouf of the
four given alternatives,

As soon as Japan entered the war, Subhas
Chandra Bose received a call fram Rash
Beharl Bose, the veteran revolutionary who
had settled down in Japan. Subhas left

Ax

Germany in a German U-boat for
Madagaskar from where by a submarina
arrived in Tokyo, met Japansss Prime
Minister General Tojo who promised and
daclared full independence to India in case
Japan deleated Britain. After this Subhas
Chandra Boss reached Singapore and set
up a Provincial Govemment of Fres india
which was recognised immediately by
Japan, ltaly, Germany, Burma, Thailand,
Nationalist Chaina and the Philippines.

87. Who declared that India would get full
independence in the event of Japan
defeating Britain in the World War 1 7

(A} Rash Bahari Bose
(B} Japaness King
(C) Japanese Prime Minister
(L) Subhas Chandra Bose
98. The Provincial Govermmant of Free
India set up by Subhas Chandra

Bose was soon recognised by how
many countries ?

(A 8
i) 8

(B) 7
(0} 5
2%, Where did Subhas Chandra Bose sat

up tha Provincial Governmant of Free
India 7

(A} Japan (B)
(C) Germany (D)

Burma
Singapore

100. The plural of Valley is
(A) Vallies
(B} Vallays
(Z) Vallees
(D}  MNone of these
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SECTION-B
Post Specific Subject-Related Questions

101. The sum total of weather conditions
and variations over a large area fora
long period of time is called

(a) wealher
(B} climate
(C) hotweathar
(D) cold weather
102. Which of the following climatic
controls is the mast important 7
(4) Latitude
By Alitude
(5} FPrassure and wind system

(T3 Continentslity

(. Whatisa mango shower 7

(&) Premensctn rainiall in Kamataka
and Kerala

(B) Rainfall in Juns 10 Septemnber
(Cy Rainfall in winter days

(D) Rainfall caused by wesigm
disturbances

104, In which chimate zone iz raintall iow,
highly variable and undependable 7

(&) Mid |atitude weslem pontinental
margin

(By Tropical
{G) Humid rid-latitude
) Polar

1Iﬁlﬂlﬂﬂllﬂlﬂﬂiﬁ]ﬂll;u

105, Which type of climaie claseification
scheme uses vegetation patiams as
a prominent featura 7

(A) Troplcal
(B) Koppen
(C) McClatchy
(D) Maxfield

106, Which of these conditions leads 1o

cyclogenesis 7

(A) Upper level divergence baing
srual to lower level convergente

(B) Upper lavel divergencs being

weak than lowser level
CONVETJence

(Cy Uppsr level divergence Deing
greatar than lower levei
convergence

(D) Upper level divergence being
consiant

107. Choose all of ihe following that are
nottrue:

L. The Koppen climate glassification
system is based on both the
termparature and annual amount of
pracipitation of a reglah

|, Acitythatis classified as having 2
humid continantal climate: under
the Koppen classification system
would possibly have &
Thormthwaite index of -20

il The Thornthwaite sysiam of
ciimate classificationis not directly
hasadon temperalure

(AY | onky (&) lonly
(C) 1 only (D) liand il only
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Fraw a2 7

(A) FH] T g e e F
ST F S i

(B) T v = e fem e g
i B Fos S

(C) Tl T svary e e
ST § A el
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108,

108,

110.

111.

2.

Which of the following climate zones
is typically subject lo the greatest
diurnal variation in temperature ?

(A) Humid subtropical
(B) Anclic

(C) Arid

(D) Mediterranean

The "weather the

atmosphere s the
(A) mesosphéra
{B) ionosphera

layer® of

{C) troposphera
(D)} stratosphers
The features & ralatively high

concentration of electrically charged
paricles.

(Al troposphsrs

(B) =tratcsphers

(&) mesosphars

(D) ionosphers

The aurora borealls (northern ights)
is most likely to be visibls

(A} neartheequalor

(B) during daylight hours

(C) at high tatitudes

(D) farfromequator

An example of a secondary air
poflutant is

(A) automobile sxhaust
(B) sulfur diowide from coal buming
(C) photochemical smog

(D) oxygen

113,

114,

115.

118,

The electrical output of a solar cell
depends on the

(A} Intensity of sclar radiation

(B} Heatcomponent of solar radiation
(C) Ultraviolet radiation '
(B} Intrared radiation

A solar pond is a combination of which
of the following combinations 7

(&) Solar enetgy collection and heat
storage

(B} Solar enargy storage and heat
collection

(C} Solar anergy collection and
snergy storage

(D) None of the above

Which of the following appliances use
golar photovoliaic technology 7

(A) Solar lantemn
(B] EBiogas plant
(C) Solar water heater

(D) Selar air heater

The value of solar conslant is
approximatsly

(&) &.5kWm?
(B} 1.38 kWim?
(C} .54 kWim®
(D) 10 KW/mé@
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117,

118,

118,

120,

Ax

The planet with & sirong greenhouse
eifect, whose surface temperaturs
averages 480°C (800° Fi

(A) Earth
(8
(C) Mars
(D) Pluto

Venus

Identify the corect sequence of the
given processes regarding rainfall

[A) Unsaturated air, condensation,

dew point, precipitation

(B) Dew point, condensation,

unsaturated air, precipitation

{C) Unsaturated air, dew point,

condensation, pracipitation

D) Dew paint, precipitation,

condensation, unsaturaiad air

: pProcesses s
responsible for weathering of rocks in
the Karst region.

(A) Screeformation
(B) Carbonation

(O] Oxidation

(D] Hydrolysis

Bad-land Topography is tha product
of the eombined action of

(A} Wind and Glacier

(B]  Wind and Water

(C) Water and Glaciar

(D} Waterand Temperatura

121.

122,

123

00 00 o g ™

Which of the following would likely to
have the lowest alheds 7

(A)  Mirror

(B) Fresh snow in the Arctic
(€)  Moist ploughed seil

(D) Thick eloud

Match the fallowing List - | with Lisf—||
and select the correct answar from the

codes given
List—| List—1i
(Geographer) (Country)
4. Alaxander L. France
Von Humboldt
b. Eflen Churchill i, LK.
Sernple
. Peter Hagnett ik, U.5.4,
d. Jeans Brunheg . Germany
Codes :
B b e d
1 I T - (R
B i W W gy
€y b W o6
L O 1T R i

In describing the patterns and
Processes of spatial interactig m,
gecgraphers ara most concarned with

\A)  Accessibility and Connactivity
(B) Density and Dispersion

(C) Ditfusion and Patem

(D) Pedestrian Citias
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124, *All history must be trealed 128. Given below are two statements, one
geographically and all geography labelled as Assertion (A) and the other
must be treated historically.” Who labelled as Reason (R). Select your
wrote this 7 answer from the codes given balow ;
Assertion (A) : Himalayan rivers are
(A) Herodotus perannial.
(B} Ratzel Reason (R) | The region gets rainfall
from the South West monsoon
(&) - Siacne season only.
(D) Davyis Codes::
125. The location of paper industries is (A) (A) and (R) are correct and (R)
highly influenced by which one of the explains (A)
following factors ? (B} (A) and (R) are correct, but (R}
. d ot explain (A
(4) Avallability and neamess of raw sespelpRingY
material (C) (A)is correct, but (R) is false
(B) Nearness of market (D) (A} s false, but (R) is comect
(C) Availability of capital 128. If the varabllity of rainfall is ic be
measured, which of the following
(L) Transpian connetltaly techniques will be used 7
126, Whigh of the following was the (A} Mean Deviation
earligst regional planning exercisa in (B) Standard Deviation
ka2 (C) Cosfficient of Variation
(A) NMational Capital Hegion Plan (O} Intsrquartile Rangs
|B) Dandakaranya Arsa Plan
_ 130. Which one of the Ilellowing
(C) Damodar Valley Project statements about the polar jet straam
' 7
(D) Bhakra-Nangal Project - hoETie 1
(A) It moves northwards during
127. To which racial groups the Eskimos summer 1l
Uelangte 3 (B) Itsupplies energy to the circulation
() The Nagroids of surface storms T
: (C) It location roughly coincides ws
(Bl The Mongolads it o hepslari
(G} “The Saucasoits (D) Ws velocity is greater dusss
(D) The Australoids sUmmer




B R T

124

125

126.

127,

oy e S e g A N
et it 3 A el 5 € 99
ayr e e e o 1

(A) Tl=Rd

By Teard

D) 2hm

= FEm = e et A R
I Vi T AT ST E

(A) T T & Ieiey 3K A

(B) SEH I FEel

(c) EFIEE

(D) witEE AT

fr= £ B SE O 5 S TR
gt 9w &1 i

(A) T T e

(B) SEEFERTY HEE AT

(C) =R

(D) STEA=ATETE A

i) e i w8 w8
(&) &FmEE

(B) EWMIEIEE

(C) ZEIFALS

D) &¥RERE

128

125,

130.

JDD-23/PGT-GEO/X-14

5 3 e T2 A R, W T (A)

<ifrm T & 3f og = o (R) @

SR R I TR e e g

= |

W{A}:WﬁMMﬁﬁ

£ 1

T (R) : WET A e -

T Ot e 2

WiE;

(Ay (A) 3 (R) TR & 3 (R, (A)
T 2 B

(B) (A) =T (R) FE B, S (R), (A)H
Ty E 2

(C) () T E T (R) TR

(D) (A)TTER R EIE (RYHE R

Tfs gfe & =i = AT =g
A el Fefr = v T

T & & e FF YA 92 WEE

A FE AL E T

(A) IR T A = LA g

(@) T e EER § e I
T B

(C) T T wE w A g
TR &

(D) ey s 3 T A A A




-

\DD-23/PGT-GEONX-14 Lﬁllllﬂiﬂlﬂﬁlﬁlll
yg1. Onecithe proponents of the urbidity 135, man”nﬂgﬁ‘rﬂidlrﬂﬂm geographers
current theory ot the origin of smphasized the prﬁdnn‘lhﬂan't rola of
sybmarnne canyons was ciimate in human e 7
Ay Dal
™ : (&) Geddes
(B) Dana
() Jefterson
(cy Salis :
) Gregoy (C) Huntington
() Brunhas

ing indicates

1a2. The yartical air flow inan anticycione
results in 136. \Wiich one of he follow
(B) conversion alofl (A 049
(C) diversion both aloft and at the {B) 1.00
surface
(cy 1.58
(D) conyergence at the surface and
divergance aloft o 245
j33. Inthe h',lﬂrm-::g.l::al eycle ayaporation Which aone aof the following
i praceded BY sequences of land use according to
Von Thunen's maodel i carrect 7
(Ay Clouds
(A Markel gardening and fresh ik,
firgwood and |umber, intensive

(B8] pracipitation
(cy Heal crop farming
(D Condensation (B Eirawood and lumber, intensive
crop faming, market g&rﬁenmg
434, Which of the following pooupies and fresh milk j
' -1 food chal |
Hp Leve! |10 chain ? (G intensive crop farming, markal
(A) Bacteria gardening and fresh milk, firawond
and lumbaF
(o) Markel gardening and fresh milk
firewoot

(B Camivaras
() Fﬂmawwnsumers

ntansive Crop farming,
and lumber

(Dy Plants

W
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(&) 0.49
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(C) 158
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{136, Who among the following developed
the sequential expangion fransport
network model 7

(A} DeSouza and Porlar
By Brown and Bracey
(C) Myrdal, Seers and Rosiow
(D) Taaffe, Marrill and Gould
136. Which category ol regions does
matropalitan region belongs to 7
(A) Formal ragion
{B) Functional region
(C) Single purpose region
(0} Natural region
140, Which one of the following is a
raiative measure of dispersion 7
(A} Standard deviation
(B) Quartil= deviation
(C) Coefficient of variation
(D) Range
141. lfamphsdramﬂunFIFHEEﬂG,whinh
ane of thi following rapresentative

fractions will be comrast if the map s
reducad to halt 7

(A} 1/2750
(8) 1/11000
(C) 1/5000

) 1 123000
Ax

w
'IIIHIIIIIHIEIIIII.III

142 Stability prevails when the
arvironmental lapse rate is

(&) leas than tha wet adiabatic rate

{B) greaterthan the wet adiabatic rate
and less than the dry adiabatic rate

{C} greater than the dry adiabatic rate

(O} greater than bath the wel and dry
adisbatic rales

: Answer quastions 143 through 145
using the following data :

H,0 vapor content; 14 grams
H,0 vapor capacity : 20 grams al 25
degreas Celsius

14 grams at 20 degrees
Cealsius

10 gramsat 13 degraes
Celslus

143. What Is the relative humidity for the
shove conditions at o5°C 7

(&) 30%
@ 100%
(C) 15%
(D) 70%

144, ‘What would happen to the relative
humidity valua in guestion 143l the
temperaturs Wers increased ?

(&) i would increase

By it would decreass

{C) itwould ramain the same

(D) it depends an the dew poini
temperature
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145,

146,

147.

148,

What is the dew point for tha
conditions listed above 7

(A} 25°C
(B) 20°C
(C) 15°C
(D) coldar than 15°C

Which of the following is a majar
effect of El Nifio 7

(A) heawvy rains along the western
coast of South America

(B} droughis in California
(C) Increased tooth decay
(D) global warming of the Earth

The effect of sulfate aercsols in the
earth’'s aimosphers is 1o

(A)  cause El Nifio weather patterns
(B) cool global climate

{C) destroyozone

(D) warm global climats

Which of the following is a plausibla
argument that burning fossil fuels may
not lead 1o savere global warming 7

(A) conversion from oll to altsmative
energy may quickly reduce CO, in
the atmosphers

(B) average global temperature during
the last 100 years actually has
deciined by 0.5°C

(€} melting glaciers may increasa tha
Earth's albedo

(D} varous negative feadbacks may
raduce the effects

148,

150.

151,

Humans are adding about 3 Gt {billion
metric tons) of carbon as CO, to the
almesphere each year. It has been
suggested that the effects of
increased CO, in the atmosphere can
be offset by planting tregs. Living
trees on Earth contain about 500 Gt
of carbon, remove about § Gt of
carbon  per yaar though
photosynthesis, and add about 5 Gt
of carban per year through resplration
and decay. If humans plant trees
equal to 1% of all present forests, how
much carbon will be removed from
the atmosphera ?

{A) 050Gt
(B} 5.0Gt
(C) 506Gt
(0) 100Gt

The temperature of the biosphare is
crucial for life on Earth, The comract
temperature range in which lifa can
exist under normal circumstances is

(A} —5%to+ 45" Calsius

(B) —10°to + 98.6° Fahrenheit

{C) 0"to+50" Celsius

(B} 0°to+ 100° Celsius

Which of the following states in India

is known for largest net irrigated area
in India 7

{A) Haryana

(B} Punjab

{C) Uttar Pradesh
(D) Maharashira
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152,

153,

154.

156,

156,

P

It air at saa level with a temperature
ol 27°C s forced up a mountain slope
and the air's dew point at the
condansation level is i4°C, at what
alevation will condensation begin ?

(A) 2600 metars
([B) 1400 melers
(C) 2700 meters
(D) 1300 meters

Which among the following is a
superimposed drainage sysiem ?

(A) Banas (B) Chambal
(C) Saraswati (D) Gomti

tate which is the largest producer of
manganese is

{A) Karnataka

(B) Jharkhand

(C) Madhya Pradesh
(D) Crissa

Which Is fhe oldest oil producing Stata
in India ?

(A) Gujarat

{8y Maharashira
(C} Assam

(D) MNone of thesa

A ramp of sand deposited by streams
along foothills in the arid land is
called

(A) Hamada
(B} Bajada

[C) Deser Wash
(D} Pedimant

167

158.

1580

150.

161.

Rating curve is usetul for estimation of
(A} River discharge

(8] Stream velocly

(C) Dissolved load

(D) Hydraulic radius

Who is the author of the book Modem
Geographical Thought 7

(A) David Harvey

(8) R.J.Johnston

(€) BrianJ.L. Berry

(D) Richard Peet

The Savanna biome IS ugually
associated with

(A) Tropical wat-dry chmate

(B} Equatorial wet climata

(C) Tropical dry climate

(D) Monscon climate

\Who was the first Geographer 10
s=certain the iength of the anquator 7

{A) Eratpsthenes
{B) Herodolus
(C)  Anaximander
(D) Thales

Which ane of the following iz wrongly
matched 7

Peaks Height
(A) Anaimudi 2695 m.
(B) Manga Parbat 777G m.
(C} Mt Everest pass m.
D) K2 B&11 m.
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162. In remofe sensing systems which 166. Which statement is true regarding

sansors, measures naturally farming activity in the United Statas ?
available energy 7
(A} The size of farms is increasing

(B) The number of farms is increasing

The number of people warking in
agriculture is increasing

(A) Active Sensors
(B} Passive Sansors
(C) Synthetic Aperture Radar (C)

(D)  Microwave Remate Sensing
(D) The number of “genaral farms" s
163. The term used to describe damage increasing

done to a public area, such as

overfishing and emironmentaldamags | 167.  Which of the following statements

‘ 10 the open seas is known as regarding the role of women in
(A) tragedy of the commons agriculture s not comect ?
(B) owverharvesting of the oceans (A} The advances from the Green

Revolution ware unkind to women

(C) public plunder X
in that it reduced the female rola in

(D) maximum profit agriculturaldevelopment programs
164. Thavastrnajnrﬂ},rnfhcfmsain all grain (B) Women farmers are responsible

produstion wordwide is dus to the for at least fifty percent of the

{A) increase in yield world's food

(B) expansion of farmland (C) Women farmers share equally with

: men farmers in the rewards from
(C} decrsase in animal production agriculture

(D) Increase in werld subsistence

farming (D) Women farmers work longer hours.

for lower wages than men farmers

165. Meditarranean agriculturs is
(A) dependent upon large quantities of | 158- The chiet goal of the Green

summer rainfall Revolution was to
L (B) known for grapes, olives, oranges (A) Increase harvest from the amount
E- and figs of available farmland
1 (C) "one of the least productive of the (B) make farming less costly

agriculiural regions

(C) Increase farm size
(D} -only found in Southern Europe and

Northern Africa (D) equalize women's role with men
in farming

Ax
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168. Out-sourcing s

170,

171.

A

(A) choosing alternate sources of raw

materials

(B) physically delimiting a company's

market for others

producing pans or products abroad
for domaestic sals

(C)

(D) selling goods at a cheaper price

to close down competitors

The mean square s the sum of
squares divided by

(A)
(B)

the total number of observations

Its corresponding degrees of
freedom

(C) its corresponding degreas of

freedom minus one

(D) none of these

The second demographic transition
refers to

(A} asecond, less extreme, population
boom

(B) tha demographic transition as itis
axperienced In the Third Ward

(C) ademographic transition resulting
in below-replacement fertifity rates

(D) a rebpund effect from the first

demographie transition

172

173.

174,

175,

A

In which stage(s) of the demographic
transition theory would you predict
that population growth would be
highest 7

{A) Stage1

(B) Stages2and3

(C) Stages1and4

(D) Stage 4

Which of the following is not a factor
affecting the fertility rate of a
population 7

(A) Average age of marriage

(B) The prevalence of breast feeding
(C}  Infant mortality

() None of the above

According to Thomas Malthus,
celipacy, birth control, delayed
marriage and other strategies to limit
reproduction are referred to as

(A)
(B}
(C)
(D)

reproductive control

positive chacks

fertility control

praventive checks

Which of the following types of soil have
a marked capacity to rétain water 7
(A) Desert soil

(B) Laterite soil

(C} Red soll
(B} Regur soil
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176.

177.

178,

The temperature at which water
vapours condensa, is tha

{A) Relative humidity

(B) Condensation point

(C) Dew point

(D) Evaporation point

Given balow are the two statements

one labelled as Assertion (A) and
other labelled as Reason (R) :

Assertion (A) : The work of wind as
an agen! of gradation is not as
widespraad as that of watar,

Reason (R) : It is effective only in the
dazen regions of the world where
rainfall is scanty and soll parficles are
inose.

In the context of the above two
statements which one of the following
is comect 7

(A) Both (A) and (R} are true and (R)
is the comect explanation of (A)

Baoth (A) and (R) are trua but (R} is
not the corract explanation of (A)

(A} is true but (R} is false
(A) is false but (R) s true

(B

(C)
(D)
A functional reglon is delineated on
the basis of

(A) Administrative boundaries

(B) Field of interactions

()
(D) Physical divisions

Isolines

179.

180,

181.

182

¢
0O 00

The number of persons expressed in
terms of unit area of agricultural land
is known as

(A} Economic Density

(B) Physiological Density
(C) Arithmatical Density
(D)  Agricultural Dansity

The polar regions are sparssely
populated because

(A} The growing season is short owing

to low temperature
(B) There are no minaral resources
(C)

(D)

The regicns are forested
Both (B) and (C)

Who defined sefilement geography
first time incorporating the concept of
settlement paltern, house lypes and
field system 7

(A) Meitzen
(B) Stone

(C) Huntington
(D) Trewartha

The highest salinity is found in tha
(A)
(B)
(C)
(2)

Baltic Sea
Okhotsk Sea
Mediterraneaan Sea
Red Sea
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183.

184,

185.

186,

187.

Ecosystem has two components
which are

(A) Animals and plants
(B) Trees and weeds
(C) Frogs and man

(D) Abiotic and biotic

Pelagic deposits consist of matter
derived from algae and are mostly in
the form of liquid mud known as

(A} Blue mud (B) Oocze
(C} Bad mud (D} Coral mud

Which of the following hills forms the
Morth Eastem edge of the Chhotanagpur
Plateau 7

(A) Rajmahal Hills
(B) Mikir Hills

(C) Parasnath Hills
(D) Javadi Hills

Which of tha following is formed as a
rasult of tectonic forces 7

(&) Hanging valley
(B) V-shaped valley
(C) Rift valley

(D) Blind valley

Which of the following earthquake
waves are most dastructive 7

(A
(B)
1<)
(D)

S-waves
P-waves
R-waves

L-waves

188,

189,

180,

181.

182,

Identify fluvio-glacial deposits from
the following

(A} Outwash piain

(B) Flood plain

(C) Penne plain

(D) Pan plain

The atmosphere gets heated by
which ona of the following 7

(A} Direct rays of the sun

(B) Volcanic activity

(C) Burning of organic material

(D) Radiation from the earth

Winter rainfall in North-Westarn par
of India is mainly due to

(A) Westemn disturbance

{B) North-East Monsoon

(C) North-West Monsoon

(D) Depression in the Bay of Bengal
The temperature that provides

favourable ecological conditions for
living coral reefs is

(A) less than 10°C

(B) 10°Cto15°C

(C) 15°Cto20°C

(D) more than 20°C

Which one of the following stages of

dermographic transition model predicts
=a-high birth but a-low death rate” ?

(A} First stage

(B) Second stage

(G} Third stage

(D) Late-second stage
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183. Which one of the following ports has
been developed on a lagoon 7

{A) Channal

(B) Mumbai

(C) Kochi

(D} Vishakhapatnam

i84. Which of the following is not

considerad a geographic paftern ?
(A) Centralized

(B} Distributive

{C) Linear

(D} Random

195. Several planned citles have been

developed In India after
Independence. Which one of the
following is not a post-indspandence
planned city 7

(A) Gandhinagar
{B) Chandigarh

(C) Jaipur

(D) Bhubaneshwar

196. Which one of the following States has

recorded the lowest human
development index 7

(A) Bihar

{B) Himachal Pradesh
(C) Punjab

{D) Haryana

197.

198.

128,

Emr

s

Solar radiation makes sevaral other
energy sources possible, including

(A) Wind energy

(B) Tidal energy |
(C) Geothermal energy

(D) Nuclear energy

All those processes which tend to
bring the surface of the lithosphere to
a common level are collectively
known as

{A) Gradation

(B) Degradation
(C} Aggradation
(D) Mass wasting

Which one of the following
atmospheric layers reflects radio
waves that ara transmitted from the
earth again back to the earth 7

(A) Mesosphere
(Bl lonosphere

(C) Troposphere
(D) Stratosphere

All the ecosystems taken together in
a geographical area form a bigger unit
called

(A) Community
(B) Territary
(C} Bilome

(D) Biosphera
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